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Worksheet: Neutralization and Titration Natme

1. Give the word equation for the neutralization reaction of an acid and a base.
AC(\M £ Pese - Sald 4+ sate—
2. Complete these equations:

HCl + LIOH = L < + He#

G ) .

3. A _Titratien is a laboratory method used to determine the
concentration of anacidora ___bpas= in solution by performing a
ewhalizabien  reaction with a standard solution.

4 Atthe __enh peint of the titration, the indicator changes color, which
indicates neui'r*ahza‘non Once neutralized, moles of CHT\ setd  and
moles of __|_[OH™\ s are equal.

5. Ina titration of HCI with NaOH, 100.0 mlL of the base was required to
neutralize 20.0 mL of 5.0 M HCl. What is the molarity of the NaOH? (Be sure
to write the neutralization reaction) e | + ro=esH = pSac| =
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6 TIna titration of H2S04 with NaOH, 60.0 mL of 0.020 M NaOH was needed to | L et
neutralize 15.0 mL of H2504. What is The molamfy of The aad? (Be sure to —
write The neutralization reaction.) H&%; 71-;})\3,.@(# ~5 Naydoy + At
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7. Tf 10.0 mL of 0.300 M KOH are required to neutralize 30.0 mL of gasfric juice
(HCI), what is the molarity of the gastric juice? |, Kken = Keoi + #e#
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CHEMISTRY: A Study of Matter
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